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JEK R
= 1 32, 754, 406
ER LT
= 1 6,433
Fe AL T (&)
= 1 6,433
b S T Cadl- ERiRY L&) 0. 9m3
= 1 2,004
Vs Sy UGy 0. 9m3
= 1 4, 429
HhgET
= 1 5, 465, 753
SIEEAE IR T (&)
= 1 5, 006, 799
I & A (B ) FAITyveTy RC-30 {1 0 & 100
mm
m2 413 1,039 429, 107
RFRRT " ny )Gl %E FX1E 30cmX 30cm t=6cm
m2 413 11, 084 4,577, 692
FET oy AT (&)
= 1 458, 954
I & A (B ) FLE)T9vTy RC-30 41 10 JE 100
mm
m2 41 1,039 42, 599
WRkT " ny )il i@ 30cmX 30cm t=6cm (UMK - i
7N
m2 41 10, 155 416, 355
Bkt 1
= 1 598, 758
8T (&)
= 1 204, 156
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TRy - T - A% - A5 MO LFENAL B G EHAm & TE (B ESM)
7" VR AN PU-180
m 12 8,103 97, 236
T TV=FvrT U - TR I
i AE A
bie 12 8,910 106, 920
BT (&)
= 1 145, 050
&R VU ¢ 200
m 30 4, 835 145, 050
eI vV T (&)
= 1 249, 552
2o 300X 300X 550 18-8-40 (Fi)F)
T 4 42, 662 170, 648
E 7 v=Fv07 #5300 [EEX HIE
TR DT T-14
e 4 19, 726 78, 904
AL
= 1 1,070, 514
fE¥E+T (&)
= 1 112, 872
fxa L (&)
= 1 957, 642
HSE AT 0y 150 X 150 X 600
m 25 9,516 237, 900
37 nys (A) H=200 18-8-40 (/& 47)
m 0 15, 597 0
37 nys (A) H=200 18-8-40 (/& 47)
m 23 11, 169 256, 887
37 ny) (B) H=400 18-8-40 (/& 47)
m 15 30, 857 462, 855
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B 1
= 1 388, 314
FEARIBA AT L (&)
= 1 388, 314
A A A Gp-Bp—2E REES (47177 707)
m 0 44, 977 0
A A A Gp-Bp—2E REES (47177 707)
m 17 22, 842 388, 314
TE AR T
= 1 727, 664
T AR T
= 1 727, 664
fi=via) K909k 0. 5-0. 25
ZN 712 1,022 727, 664
W E S E T
= 1 14, 212, 058
fE¥E+T (&)
= 1 251, 844
P/ EfE T (&)
= 1 2, 235, 980
BINEH B 594 X841 (J& T Miz%)
T 4 74, 157 296, 628
ENEWR Hrix 430X300 (FHADFEHE)
T 10 30, 756 307, 560
ENEWR Hrix 297 %210 (BHALAA7)
T 2 17, 857 35,714
RN Bk GRS
H 2 275, 481 550, 962
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ENEHR B 594 X841 (J& T Miz%)
T 5 74, 157 370, 785
ENEHR B 420X594 (JEIfEz%)
T 3 39, 198 117, 594
ENEHR B 350 X350 (FEHA W)
T 2 22,616 45, 232
ENEHR B 270X 170 (FEFK 1Y)
T 2 24, 804 49, 608
ZENHIR BT 594 X 841 (HrHhuEIRL{IEL)
T 6 74, 157 444, 942
HEENR B 600 X 350
T 1 16, 955 16, 955
=7 37— fE T Ci355))
= 1 298, 780
B=7737- (B ) £475 320 X H225
H 4 74, 695 298, 780
PekHgcks L i 355))
= 1 201, 808
HEAKHE 100 X SEHIH=68 TV 1 : 3 (EF)
m 12 2,990 35, 880
e L BEKIH v 1 3GELE)
m 1 1,078 1,078
S 7T Vv=Fv)" 2 (SUS) AEME100 A A
-2
e 6 27, 475 164, 850
fE B s L (&)
= 1 3, 602, 782
BRI (RIF) HEEEME
m2 18 34, 375 618, 750
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Ny (BETR) 108 X 60
m2 36 55, 050 1, 981, 800
o Av  (Rim) 150X 150
m2 12 69, 408 832, 896
RRREEERMY  ORHE) 150 X 150
m2 2 84, 668 169, 336
IEKARER & (&)
= 1 7,620, 864
1EZKIR M 7L W3030 X H700
#% 3 1, 680, 054 5,040, 162
AEZRBR S W1800 X D850 X H620
H 1 1, 199, 648 1,199, 648
AEZRBR UL W1800 X D850 X H810
H 1 1, 381, 054 1, 381, 054
MEER M B T
= 1 329, 680
B R T (&)
= 1 327,991
An=7" -k
m 46 1, 900 87, 400
M VAL 3 ()
T 37 2,678 99, 086
BT RPN-501
m2 13 10, 885 141, 505
TEALER T (&)
= 1 1, 689
L5 8 Ae ShE An=7" FEY-W 1t
= 1 1, 689
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm #H TE (B ESM)
HEE L
= 1 525, 810
e B L T (&)
= 1 385, 560
LB /) -MHEERR SRR 6 c m
m2 360 1,071 385, 560
TEHR LB T (&)
= 1 140, 250
PRauRiiie a7 U — bk (B
m3 22 1,877 41, 294
ALy av7Y)=hik (JE57)
m3 22 4, 498 98, 956
G an
= 1 9, 429, 422
RmE T
= 1 9, 429, 422
AW B BRI 230 A H
= 1 3, 245, 530
AW B (&) 286 A A
= 1 6, 183, 892
AL [EIE
= 1 3, 143, 947
BRI+ T
= 1 499, 966
PRI T (&)
= 1 115, 862
HRELT (&)
= 1 317, 414
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Fe AL T (&)
= 1 66, 690
S E T G ERRY 1A 10m3
= 1 17, 470
Vs Sy Uy 10m3
= 1 49, 220
EARILIETE T
= 1 2, 643, 981
B T (R BEER) (&)
= 1 2, 643, 981
HERE WEE A7 VRS PVE R Thm
m 165
m 30 87, 229 2,616, 870
HERFRIRY-b W30cm
m 30 290. 1 8, 703
HERFRIRY-b W60cm
m 30 613.6 18, 408
B TR
= 1 35, 898, 353
MR E
= 1 6,177, 892
B3 TS
= 1 1,023, 005
et By
= 1 53, 601
JE R FEART e 1T
= 1 53, 601
BIGREsET (K30
= 1 969, 404
-7 - ELzmd s i




HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
HIMGERE (FE L)
= 1 5, 154, 887
Wi
= 1 42, 076, 245
B
= 1 15, 105, 488
T AT
= 1 57,181, 733
— R
= 1 10, 408, 267
TS
= 1 67, 590, 000
THEBLFH Y %H
= 1 6, 759, 000
TH#&G
= 1 74, 349, 000
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